2023stH ¢
M90=

Q
Mo
o
ot
=2
of
El
Ho
ol
i
Ul
W

=
ot
g
[@))]
N
oy

oy

no |joF J

- |[5
¥
Sn 0% oo
s =
B S
- rr

T |-

1 o>
ll
nE
ot
e
O
10
=]
J
o
ro
ot
o
=2
0L
El
Ho
nx
>

| o —
6/19(&) | 6/20(2}) | 6/21(=F) | 6/22(=) | 6/26(Z) | 6/27(=h
EETE
28 ssid | et | 1etd | et
+(5-3)
447! HE A7

3% =9

[ 91717} QoI FsfiK|= ‘3Kt SO, SN THIE men
S0QH HHLCP ]

S0 Al 2ol RS2 #70f =efEE2 SUAe
& X =0 WA 32 20| ZERE0] T 57| S22
HiZEUCE OfF Soif §20| &t OITOHE 2LH0I|A
AR 3¢ 89 w7l 220 =EEls 3Kk 50|

o =50 7o
S K| QCELE CHE 7§50)

o] BN

IO

el S
3 S¢iof| =R St

1k ES(EEE) 2K ESIEIEES)

I:II-AH'<'>'|'|_||:|- E,

3k ESEIEED)

el

0%, 2, I Soll o=
Ciilio] =4 2EI2

D}AI_ =

Bt 21018
EE D= 2

HIS2IXDt
CIE A0l LiE=
EltH 21712 OkAl= 2

[ 3% S, OfZA Tolof siLte? |
2% 30| ZEYuny;

2) Feiolo| FAIZ HIHOR =oFNR

[ 47| F=(0fefR) S50 A=t ol ]

- o= ARBES AR Lo} ofEsS HASH ofF S5
Sds 22 7tsd0] 5L

- 8% 9 HHEFYO| Tk B ZHE T
7&'7‘*, =L _’E’SOI 024X klO| 7|55 *SIA[A

- 1. C|SF=Z2 BT Al SIAL 2HAL S HE2JIO
, e HEEHOH| [Ii2t st ZL0I2F AL

3. QIo=0| Holin 23 X S-S X7
Elt & =8sb|

;0{ 6. KHEIOIH MSE 258 347)

j XEA0| HEHIERIE CI2 AZ0l 912 20| iF 871
Ny

o K= FHHO| RO R O ORXIRSH DIRERL Ratich
ASS MESP|T BhCE a7t 4SS A 0 T
SHA| HESH=S 7PN SBEA I FAlR.

- ool M okF S5 HXSH| 2 22| d=stHle.



1A 363 MIA 2Hel LGH 31Y): THIZ} ofdl AL M2 I|UFH !

LLOL- 10

Q) zusns KHEP; Sisiinca ™2 Q) = SHEFFRRSHLS
EHHE ARSI SIGHAT: OFS L2 0| EOSH| TAMIHI 2432} AMEi0] At SO0l A12E $1TIE A QU TS
@E' B RIS BT [ =il HHZ - =
Sh 1= = m=llle & = =i
SI0LHA Qs LUV A=

* mAMEIHHES(GTS)
EIE OIE [ I8 Sol
LIZEIO| S+-2I0] 22, HIATHE,

—£ s s sa el

K1:WHO SHOIAI

Q@) == e KHEP; stimen ™3 (o

KHEP; iztnues ™1
-~ Eiti RHHHE CioH .
: NI-|-2|°EI_I H2USH ST HEIE 216K

o~

211k20HhaOl AEIO] Extill RHHHE P12t
E2 2SI 2I0H AR ASLICE

EfblE £ HISEE DA
CHE B2 RHHHE: & A= S212 E0ICILICH

SISISNHHIE [T EH STIE
“"HI NF2{SHEIO] 2SEHTHION 2HSSE DRMLICH

o o = o
x
--------------------------------------------------- T

St Dot glloh= ‘U= 2-HE oW = Ci=|
SiHnot S| SRS ENEEE M Tk SHAE HiZE QURK0| Sy RSS!

1. 3% Boig mBte 2EHel Wie? 00 —=fe By
2 SB(OIR) BSO2 00 59 TR0 2P WOR BuiE Tek 2K e Sl
N s I RER=
80F ZHO| O{X|2 02| 7152 XoStAA K2 2X7 2dgt = Tt o ;
O|Equll C E QL & O|okZ g 105 ZiC =i .
3. QIH4Y0A CROI0E olakEZ Flolx =ICt So o ( o X )
4, CIE sU=s0]| Hsh Sl ij<I'— A Aleketz|of 0000 2fFekE O|XICE 4t ot '
[ — |
shd 1,28Hd 343t 5,65t
SHAH 5.30(@h, 5.31(%) 531(%), 6.1(3) 61(2), 6.2(3)
HE Xt 12:10~12:50 13:00~13:40 12:10~13:00
Ni= g 1= Of2l0] MOpR(15 EAMEh, 27 MHEN H=




